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Find the LCM of each set of polynomials.

16x,8x%y3,5x3y
6 <] 5

f—2B2XD g Ao
LCM — 2x2x2x2 x5 = %o
Lem - 22 LS Al

— LCM = 8ox333

39351 SlsaiS o degane JSJ 30l yiduall caclasll s>

7a%,9ab3,21abc?

= 9 2)
/ 7/ 2%F —‘.C/)(\'\*M*_\—’A\-»
LCM = 243 xF = 63
34
LM - be =N

o LCM = 3488

3y2 —9y,y? — 8y + 15

x3 —6x%2—16x,x%—4

LYY= ) (}“3)} x (x=6x-16) , (z-2)(x+2)
I\ / (2+2)
— LM _ 33(3_—3) (3-5}
— LCM = = (z+2)(%-8)(x-2)
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x2+9x+18+x+6

4x

(e 43)(x+ 6)

5 (x+3)
(x+6)(x +3)

4x + 5 (x +3)

(2 +3) (x+6)

8 2y -5
y—3 y—12y+27
2 (4-7) N Sk
(9-3)(3-2)  (3-3)(%-9)
_ 8(3-9) +2y3 -5

(4-3)C%-9)
_ 4 +5% +13 _ 9= +13 - R%-% x23-5 _ by —737
(% A3)(X +6) (x+3)(x+6) (3-3)Cy-9) (4-3)(3-9)
3a+2 _ 7 GEOMETRY Find the perimeter of the rectangle.
a?—-16 6a+ 24
_’l(J,JzJ\-\-l)"’JM)
. 3a + 2 E q
(0= 4) (o +4) € (o +4) X+1
_Ba+2) 0 F (a-w o 4,3 )
6 (o= u)(oe+1) 6(0L+4') (a—y) z | Z-2
_ €G30 +2) _F(a-4) S (4 3 )
6 (—k) (aack) (k+)(x-2) (x-2) (x+V)
WCoa £\ —Fa v+ 2% =92 L()c_8+3)(+3)
ECa~y)(a+y) (@ «\)(x-2)
_ Woo + Yo 2(Fx-5) _ _14x - 10
é(a_u)(u.\.q.) (e +)(x-2) (k+1)(x-2)
Simplify each expression. By90 bud yuss JS Js>
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